
Which IOTA method to use?

1/Simple Rules
 Inconclusive = malignant
 Inconclusive = refer to expert
 Inconclusive = LR1, LR2, ADNEX or SRRc

2/ADNEX (LR1, LR2, or SRRc) for all

All are safe!

ADNEX for the others
Adnex for magnitude of malignancy risk
Adnex for type of malignancy

3/ ”Modified benign easy descriptors” (unilocular endometriomas, 
unilocular dermoid cysts, all other unilocular cysts with smooth walls < 10 cm = benign)



How do I interpret the risk of malignancy
calculated by ADNEX?

Refer to
oncology

Expectant


